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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

%UÔX›◊Tˆ ( Economics ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

aä] Yy [ 7th Paper : Developmental Economics 
(Advanced) & Mathematical Technique in 

Economics ] 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) ÿëˆ„îÁ~Tˆ ÂV`m◊_„Tˆ %UÔÍX◊TˆEı ◊•„l˘y◊[˝◊`rÙ [˝Ó[˝ÿöˆÁÃ[˝ 

W˝Ã[˝Xm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e AW˝Ã[˝„XÃ[˝ %UÔÍX◊TˆEı 
◊•„l˘‰yÃ[˝ ÿëˆÃ[˝÷Y [˝ÓÁFÓÁ EıÃ[˝”X* 10 + 10   

 (F) %a›] `“„]Ã[˝ Â^ÁGÁX„Eı [˝Ó[˝c˜ÁÃ[˝ Eı„Ã[˝ AEı◊ªRÙO ÿëˆ„îÁ~Tˆ 
ÂV„` ]…_W˝X GPˆX aey‘Á‹ôˆ _«c˜Oa Tˆ√º¯◊ªRÙO (Lewis 
theory) %Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e Ac˜O Tˆ√º¯◊ªRÙOÃ[˝ ]…_ÓÁÃ^X 
EıÃ[˝”X* 12 + 8 

 (G) AEı◊ªRÙO ÿëˆ„îÁ~Tˆ ÂV„` ^„UÁY^«N˛ E ıd„EıÏ`_ YªK˜≥V 
aey‘Á‹ôˆ %]Tˆ¤Ó ÂaX-AÃ[˝ Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 20 

 (H) %UÔÍX◊TˆEı =~Ã^„XÃ[˝ ªJÙÁ◊_EıÁ`◊N˛Ã[˝÷„Y %Á‹ôˆL¤Á◊TˆEı 
[˝Á◊S„LÓÃ[˝ \…ˆ◊]EıÁ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 20 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) %UÔÍX◊TˆEı =~Ã^X aey‘Á‹ôˆ a«b] ◊[˝EıÁ` Tˆ√º¯◊ªRÙOı 
%Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e Ac˜O Tˆ√º¯◊ªRÙOı ]…_ÓÁÃ^X EıÃ[˝”X* 

  8 + 4  

(F) LXaeFÓÁ ◊[˝bÃ^Eı Ã[˝÷YÁ‹ôˆ„Ã[˝Ã[˝ ◊[˝◊\ˆ~ ÿôˆÃ[˝„Eı 
a«&rÙ\ˆÁ„[˝ [˝ÓÁFÓÁ Eı„Ã[˝ LXaeFÓÁ ◊[˝bÃ^Eı Ã[˝÷YÁ‹ôˆ„Ã[˝Ã[˝ 
Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) ÿëˆ„îÁ~Tˆ ÂV`m◊_„Tˆ ◊X∂oˆÿôˆ„Ã[˝Ã[˝ \ˆÁÃ[˝aÁ„]ÓÃ[˝ ZgıÁV 
aey‘Á‹ôˆ ÂX_ÀaXÀ-AÃ[˝ ]„Qˆ_◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(H) AEı◊ªRÙO ÿëˆ„îÁ~Tˆ ÂV„` `“]◊X◊[˝QÕˆ Y“^«◊N˛ ÂEıÏ`„_Ã[˝ 
Y“„Ã^ÁG A[˝e ]…_W˝X ◊X◊[˝QÕˆ Y“^«◊N˛ ÂEıÏ`„_Ã[˝ Y“„Ã^ÁG 
a+„EÔı T«ˆ_XÁ]…_Eı %Á„_ÁªJÙXÁ EıÃ[˝”X* %ÁYXÁÃ[˝ ]„Tˆ 
ÿëˆ„îÁ~Tˆ ÂV„` ÂEıÁXÀ Y“^«◊N˛ ÂEıÏ`_◊ªRÙO ^„UÁY^«N˛ 
Ã[˝÷„Y ◊[˝„[˝◊ªJÙTˆ c˜CÃ^Á =◊ªJÙTˆ ? =w¯„Ã[˝Ã[˝ ÿëˆY„l˘ ^«◊N˛ 
Y“V`ÔX EıÃ[˝”X* 8 + 4 

(I¯) %UÔÍX◊TˆEı ◊[˝EıÁ` aey‘Á‹ôˆ Ã[˝‰∫RÙOÁ-Ã[˝ Tˆ√º¯◊ªRÙOı %Á„_ÁªJÙXÁ 
EıÃ[˝”X A[˝e Ac˜O Tˆ√º¯◊ªRÙOÃ[˝ ]…_ÓÁÃ^X EıÃ[˝”X* 

  8 + 4 

(ªªJÙ˜) %UÔÍX◊TˆEı =~Ã^X aey‘Á‹ôˆ ÂLÁÃ[˝ W˝ÁhıÁ Tˆ√º¯◊ªRÙO„Eı 
◊[˝`V\ˆÁ„[˝ [˝ÓÁFÓÁ EıÃ[˝”X A[˝e Ac˜O Tˆ√º¯◊ªRÙOÃ[˝ ]…_ÓÁÃ^X 
EıÃ[˝”X* 8 + 4 



 3 EEC-VII (UT-85) EEC-VII (UT-85) 4 

B.A.-5657-W   [ Turn over B.A.-5657-W 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
(Eı) %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ [˝XÁ] È[˝„V◊`Eı aÁc˜Á^Ó aey‘Á‹ôˆ 

◊[˝TˆEÔı◊ªRÙO„Eı [˝ÓÁFÓÁ EıÃ[˝”X* 
(F) ◊Eı ◊Eı EıÁÃ[˝„S AEı◊ªRÙO ÿëˆ„îÁ~Tˆ ÂV„` G–Á] ÂU„Eı `c˜„Ã[˝ 

`“]`◊N˛Ã[˝ ÿöˆÁXÁ‹ôˆÃ[˝ H‰ªRÙO ? 
(G) AEı◊ªRÙO ÿëˆ„îÁ~Tˆ ÂV„` %UÔÍX◊TˆEı =~Ã^„XÃ[˝ CYÃ[˝ 

LXaeFÓÁ [˝ ◊à˘Ã[˝ Y“\ˆÁ[˝ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(H) ]…_W˝X-=dYÁVX %X«YÁ„TˆÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

◊[˝◊X„Ã^Á„GÃ[˝ ◊aà˘Á„‹ôˆÃ[˝ ]ÁXV„â¯Ã[˝ ◊[˝„[˝ªJÙXÁÃ^ A◊ªRÙO„Eı 
YÃ[˝›l˘Á EıÃ[˝”X* 

(I¯) AEı◊ªRÙO ÂV„` ÂEıÁ◊ªRÙO ªRÙOÁEıÁÃ[˝ ◊c˜aÁ„[˝ Â\ˆÁG %„Yl˘Eı◊ªRÙO 
yC 80100 ⋅+=  A[˝e ÿëˆÃ^ï…ˆTˆ ◊[˝◊X„Ã^ÁG c˜_ 

2000 =I * c˜„_ (i) \ˆÁÃ[˝aÁ]Ó LÁTˆ›Ã^ %ÁÃ^ %UÔÁd 

0y  EıTˆ c˜„[˝ ?  (ii) AFX ÿëˆÃ^ï…ˆTˆ ◊[˝◊X„Ã^ÁG Â[˝‰QÕˆ 
3001 =I  c˜„_ XT«ˆX %[˝ÿöˆÁÃ^ \ˆÁÃ[˝aÁ]Ó LÁTˆ›Ã^ %ÁÃ^ 

%UÔÁd 1y  EıTˆ c˜„[˝ ? (iii)  ◊[˝◊X„Ã^ÁG mS„EıÃ[˝ 
%ÁÃ^TˆX [˝Á ]ÁX EıTˆ c˜„[˝ ? 2 + 2 + 2 

(ªJÙ) ªJÙÁ◊c˜VÁÃ[˝ VÁ]GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ Y◊Ã[˝]Á„YÃ[˝ Yà˘◊Tˆ◊ªRÙO„Eı 
Y“„Ã^ÁG Eı„Ã[˝ ◊X∂oˆ◊_◊FTˆ V«◊ªRÙO ªJÙÁ◊c˜VÁ %„Yl˘„EıÃ[˝ 
a]›EıÃ[˝S„Eı ◊[˝ªJÙÁÃ[˝ Eı„Ã[˝ Y UEı V«◊ªRÙO Âl˘‰y ªJÙÁ◊c˜VÁÃ[˝ 
VÁ]GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ ◊XSÔÃ^ EıÃ[˝”X : 
(i) Ã[˝Á„]Ã[˝ ªJÙÁ◊c˜VÁ %„Yl˘Eı : PQ 575 −=  A[˝e 

(ii) Ã[˝◊c˜„]Ã[˝ ªJÙÁ◊c˜VÁ %„Yl˘Eı : 5628 =+ PQ  
 AFÁ„X Q  c˜_ ªJÙÁ◊c˜VÁÃ[˝ Y◊Ã[˝]ÁS A[˝e P c˜_ AEıEı 

Y“◊Tˆ VÁ]* 3 + 3 

(ªK˜) ^◊V Â]ÁªRÙO [˝ÓÃ^ %„Yl˘Eı◊ªRÙO 32615 qqqC +−=  c˜Ã^, 

GQÕˆ [˝ÓÃ^ (AC) A[˝e Y“Á◊‹ôˆEı [˝ÓÃ^ (MC) ÂÃ[˝FÁ•„Ã^Ã[˝ 

a]›EıÃ[˝SV«◊ªRÙO ◊XSÔÃ^ EıÃ[˝”X* =dYÁV„XÃ[˝ Y◊Ã[˝]ÁS EıTˆ 

c˜„_ GQÕˆ [˝ÓÃ^ X…ÓXTˆ] c˜„[˝ ? ^◊V GQÕˆ [˝ÓÃ^ X…ÓXTˆ] 

c˜Ã^, TˆÁc˜„_ GQÕˆ [˝ÓÃ^ = Y“Á◊‹ôˆEı [˝ÓÃ^ c˜„[˝ ◊EıXÁ TˆÁ 

◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* AFÁ„X C c˜_ Â]ÁªRÙO [˝ÓÃ^ A[˝e q c˜_ 

=dYÁV„XÃ[˝ Y◊Ã[˝]ÁS* 2 + 3 + 1 

(L) AEı◊ªRÙO Y“◊TˆúˆÁ„XÃ[˝ ªJÙÁ◊c˜VÁ %„Yl˘Eı◊ªRÙOÃ[˝ a]›EıÃ[˝S 

qp −= 20  A[˝e Â]ÁªRÙO [˝ÓÃ^ %„Yl˘Eı◊ªRÙOÃ[˝ a]›EıÃ[˝S 

282 ++= qqC  c˜„_ ◊X∂oˆ◊_◊FTˆ ◊[˝bÃ^m◊_ ◊XSÔÃ^ 

EıÃ[˝”X :  

(i) a[˝ÔÁ◊W˝Eı ]«XÁZıÁ %L¤„XÃ[˝ a]„Ã^ Y“◊TˆúˆÁX◊ªRÙOÃ[˝ 

=dY~ V–„[˝ÓÃ[˝ ◊[˝◊y‘Ã[˝ Y◊Ã[˝]ÁS %UÔÁd \ˆÁÃ[˝aÁ]Ó 

%[˝ÿöˆÁÃ^ ◊[˝◊y‘Ã[˝ Y◊Ã[˝]ÁS  

(ii) \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ^ %◊L¤Tˆ a[˝ÔÁ◊W˝Eı ]«XÁZıÁÃ[˝ 

Y◊Ã[˝]ÁS A[˝e 

(iii) \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ^ V–[˝Ó◊ªRÙOÃ[˝ AEıEı Y“◊Tˆ VÁ]*  

 AFÁ„X q c˜_ V–[˝Ó◊ªRÙO„Eı ◊[˝◊y‘Ã[˝ Y◊Ã[˝]ÁS A[˝e p  c˜_ 

V–[˝Ó◊ªRÙOÃ[˝ AEıEı Y“◊Tˆ VÁ]*  2 + 2 + 2 

 
 



 EEC-VII (UT-85) EEC-VII (UT-85) 2  

B.A.-5657-W   [ Turn over B.A.-5657-W  

English Version 
 
 

1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the types of economic dualism in 

less developed countries and explain their 

nature. 10 + 10  

(b) Discuss Lewis' theory of capital formation 

using the unlimited supply of labour in a 

less developed country and evaluate this 

theory. 12 + 8 

(c) Explain Amartya Sen's theory of the choice 

of appropriate technique in a less developed 

country.  

(d) Discuss the role of international trade as an 

engine of economic development. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the theory of Balanced Growth as a 

theory of economic development and 

evaluate the theory. 8 + 4  

(b) Discuss the theory of Demogrpahic 

Transition and explain clearly the different 

stages of such a transition.  

(c) Discuss Nelson's theory of low level 

equilibrium trap in less developed 

countries. 

(d) Make a comparative study of application of 

labour intensive and capital intensive 

techniques in a less developed country. Of 

these two, which technique should be 

appropriately used in less developed 

country in your opinion ? Give reasons for 

your answer. 8 + 4   

(e) Discuss Rostow's theory of economic 

growth and evaluate this theory. 8 + 4  

(f) Explain in detail, the Big Push theory of 

economic development and evaluate this 

theory. 8 + 4   

3. Answer any four questions  : 6 × 4 = 24 

(a) Explain the controversy between 

international trade and foreign aid.  

(b) What are the reasons behind the migration 

of labour force from rural to urban areas ?  

(c) Discuss the effects of population growth 

upon economic development in a less 

developed country. 
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(d) Discuss the concept of capital-output ratio 

and examine it as a criterion of considering 

investment decision.  

(e) In a country, measured in terms of Rupees 
crore, the consumption function is 

expressed as yC 80100 ⋅+=  and the 

autonomous investment is 2000 =I .          

(i) What will be the equilibrium level of 

national income 0y  ? (ii) If autonomous 

investment is increased as  3001 =I , what 

will the new equilibrium level of national 

income 1y  ?  (iii) What will be the size i.e. 

value of the investment multiplier ?  

  2 + 2 + 2 

(f) Apply the method of measuring price 

elasticity of demand and derive the two 

separate price elasticities of demand by 
considering the following two equations of 

demand curves : 

(i) Equation of Ram's demand curve 

PQ 575 −=  and  

(ii) Equation of Rahim's demand curve 

5628 =+ PQ . 

 Here, Q is quantity demanded and P is 
price per unit. 3 + 3  

(g) If the total cost function is 

32615 qqqC +−= , derive the two 

equations of Average Cost (AC) and 

Marginal Cost (MC) curves. What will be the 

level of output if Average Cost is     

minimum ? Examine whether Average    

Cost = Marginal Cost will occur if the 

Average Cost is minimum. Here, C is total 

cost and q is output. 2 + 3 + 1 

(h) Given, the equation of the demand function 

as qp −= 20  and the equation of the total 

cost function as 282 ++= qqC , determine 

the following items : 

(i) the equilibrium quantity sold by the 

firm, i.e. the quantity sold while 

earning maximum profit; 

(ii) the amount of maximum profit earned 

at equilibrium and  

(iii) the price charged per unit at 

equilibrium. 

 Here, q is quantity sold and p is price 

charged per unit. 2 + 2 + 2 

    


